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Level 2 — Educational Expenses

(@ Japan is the lowest / of the 34 member countries / of the

Organization for Economic Co-operation and Development (OECD)

in 2015 / with 2.9% / for public expenditure / on Gross Domestic

Product (GDP) / for educational institutions / from elementary

school / to university.// (Average is 4.9%.)

(2 In Japan, / it costs about 10 million yen / per child / to proceed to
a university,/ even if he only goes to a public school.// Furthermore, /
if he only goes to a private school, / the cost will be double.// In the
West, / cost of public school education, / including the cost / of
teaching materials and school lunch, / are much lower / than that of

in Japan.// In some countries, / public school doesn’t cost anything.//

(3 As aresult, / in Japan, / educational expenses are high / and a

large percent of them are paid / by household.//
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